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B (A)

m 2B (B)

Pl = 3.14159;
Area = Pl * Radius * Radius; Area = 3.14159 * Radius * Radius;
Circumference = 2 * Pl * Radius; Circumference = 2 * 3.14159 * Radius;
if (xValue <Pl /2) break; if (xValue < 3.14159 / 2) break;
if (xValue > Pl /2) continue; if (xValue > 3.14159/2) continue;
AE 5 X * i (C) 25 F (D)
const float PI=3.14159;
fscanf(inputfile, "%f", &Pl);

Area = P| * Radius * Radius;

Area = Pl * Radius * Radius;

Circumference = 2 * Pl * Radius; Circumference = 2 * Pl * Radius;
if (xXValue <Pl /2) break; if (xXValue <Pl /2) break;
if (xXValue > Pl /2) continue; if (xXValue > Pl /2) continue;
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